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QUESTION 1

Which of the following is NOT a benefit of using public frameworks and standards? 

A. Knowledge of public frameworks is more likely to be widely distributed 

B. They are always free ensuring they can be implemented quickly 

C. They are validated across a wide range of environments making them more robust 

D. They make collaboration between organizations easier by giving a common language 

Correct Answer: B 

 

QUESTION 2

A process owner has been identified with an "I" in a RACI matrix. Which one of the following would be expected of
them? 

A. Be accountable for the outcome of an activity 

B. Perform an activity 

C. Be kept up-to-date on the progress of an activity 

D. Manage an activity 

Correct Answer: C 

 

QUESTION 3

Which of the following BEST describes technical management? 

A. A function responsibilities for facilities management and building control systems 

B. A function that provides hardware repair services for technology involved in the delivery of service to customers 

C. Senior managers responsibilities for all staff within the technical support function 

D. A function that includes providing technical expertise and overall management of the IT infrastructure 

Correct Answer: D 

 

QUESTION 4

Which of the following statements MOST correctly identifies the scope of design coordination activities? 

A. Only changes that introduce new services 
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B. It is mandatory that all changes are subject to design coordination activity 

C. Only changes to business critical systems 

D. Any change that the organization believes could benefit 

Correct Answer: D 

 

QUESTION 5

Check, Act and Plan are three of the stages of the Deming Cycle. Which is the fourth? 

A. Do 

B. Perform 

C. Implement 

D. Measure 

Correct Answer: A 
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